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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 RferafaT & ¥ fFud TRada #& R Jerd & v ey §9 F gE A _
Question ID :9864493248

qiEfET & o1 gwar &
Status : Answered

The state of matter can be changed into another state by changing the:
Chosen Option : 1

Ans

F 4.
Temperature

2 : . - ¢ 5
Q2 5w T F A ? ArE o w Question ID :9864494079
Status : Answered

Chosen Option : 2

?

Select the option that can replace the ? symbol in the following figure.

Ans
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Q3 ¥ ¥ Ffew & AT FRa-FARw v PR 7 ¥ Gadr

s Question ID :9864492272
The Kochi-Muziris Biennale held in Kochi, Kerala is an exhibition of which of the Status : Answered
following? Chosen Option :2
A
ns x FANIIZ H HIT AT HTE Fell
1.
Kerala martial art of Kalaripayattu
x AT FAedred e
2.
Old Malayalam movies
X s I
Kathakali dance
v HHFTATA Fell
Contemporary art
4 Taafas :
Q4 gifzuw Frafae & Hfl'%’ Question ID : 9864493367
. . . Status : Answered
The chemical formula of Sodium Carbonate is: ,
Chosen Option :3
Ans X' 1. NasCO»
< 2. NayCO
/< 3. NaCOs
o 4 Na,COs
Q5
Question ID :9864494068
Status : Answered
Chosen Option :4
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&I 7T FueT FT TEr
TfEF T B IHFET FLS

FeA:

3 I FESIeS T R gETE 3 £E 8

e

1. BN F Waas FE 0 gFae @9 & @igv
2. TFN & FEAAH TUE W gEE ¥ @ ae gy TeE & A
SARTEHAT YT FAT =TT

Consider the given statement to be true and decide which of the conclusions logically
follow(s) from the statements.

Statement:
Public smoking has increased in the current year.

Conclusions:
1. Government should ban public smoking.
2. Government should create awareness about ill effects of public smoking.

harer TSy 1 3TEROT I B

Only conclusion 1 follows.

2 daer ey 2 TETOT T g

| Only conclusion 2 follows.

(A AT AR A 2 AT HA E
Neither 1 nor 2 follows.

1 3R 2 A=t 3T Y 8

Both 1 and 2 follow.

F N

x

v

Q6

Ans

T Hig F I ZIGZAGGING #I AZGIZGNIGG & &7 # forgr =ar § of 36

FT # BLIZZARDLY + & forgr smoem? Question ID

In a certain code, if ZIGZAGGING is written as AZGIZGNIGG, then how will Status
BLIZZARDLY be written as in the same code? Chosen Option

19864494140
:Answered
12

v 1 ZZILBYLDRA
X 2 ZZILBIYLDRA
X 3 ZZILLBYLDRA
X 4 ZZILBYDRA

Q7

Ans

file://lhome/chrono

Eolg T TaGFAT T SIS AT & HTAT FET & ATH T o Fr e 2
O fw a¥ graer O oo
The Charter of Liberties — popularly known as ‘The Magna Carta” — was signed in

Question ID
Status

England in which year? Chosen Option :

19864492135

:Not Answered

X, 1415 ST

1415 AD

x5, 1315 Er=]]

1315 AD
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. 1215
1215 AD

x o 1115 Er=c]]

1115 AD

v

Qs

Ans

FiF T 3ok BT (Answer figure) f&w =TT 999 =T (problem figure) ST TEr
oo S #r gaar #7

Problem Figure
_fl_a
7
i
Answer Figures
. . C
a | a a & |
a a v v
-l - » -
A B C D

‘Which of the given Answer Figures depicts the correct water image of the given Problem
Figure?

Problem Figure
*la
7 |
.
Answer Figures

R

A B c D

X 1A
X 2D
v C
< +B

Question ID :9864493967
Status : Answered

Chosen Option :3

Q9

Ans

oA F 4 : 52 g W 6E &1 g& AR THee Fr g @ s v @ it F
T BT For fraer o = geme

‘What would be the smaller of the two angles formed by the hour hand and the minute
hand at 4 : 52 p.m.?

< 1.162°
< 2.164.5°
< 3.165°
v 4 166°

Question ID :9864492933
Status : Answered

Chosen Option :4

Q.10 TEFarT WRemss 2T §W iR e AT veRe # §gFd 396H 87

Ans

file://lhome/chrono

Vistara airline is a joint venture between Tata Sons and which international airlines?

o[FAUTHT
XKo@
HIfTe TaResd
| Malaysian Airlines
fafeer wras
X 3

British Airways

X2

Question ID : 9864492378
Status : Answered
Chosen Option :4
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v feerR vatesE
o 4
Singapore Airlines
Q.11 T T gT uey & o s TAY, uey #r feufae 3= rwst agwr s

Ans

‘While releasing the arrow from a stretched bow, the PE of the bow is converted into?

xl_mﬁmﬁﬁ

chemical energy

| s =
kinetic energy

3_ﬁ|ﬁ’rm

sound energy

| T S
heat energy

-

x

x

Question ID :9864493362
Status : Answered

Chosen Option : 2

QI gt r i W AR F i T s T s scm s e o & @

FleT T T TTT B

IfE LIKE GOOD HABITS & 126 = fFar =am § ot HABITS & #iE &=
grem?
Fe:

1.1 LOVE PICTURES = 785 @is f&ar =irar 21

2. THOUGHT BECOMES HABIT =t 856 iz fam =iram 1

Consider the given question and decide which of the following statements is sufficient to
answer the question.

If LIKE GOOD HABITS is coded as 126, then what will be the code for HABITS?

Statements:
1. ILOVE PICTURES is coded as 785.
2. THOUGHT BECOMES HABIT is coded as 856.

p N
R T T FT e e & AT T ar 1 3w 7 & 2 T3 &
Neither 1 nor 2 is sufficient to answer the given question.

¥ &3
3 9T g FT Feal 2 & ToIT e 2 v ¥ Ak ader 1 gEeg FE
3 Ialone is sufficient while 1 alone is not sufficient to answer the given question.

< 3
o 7T 9o F IR & F w1 3k 2 @ s §
Both 1 and 2 are sufficient to answer the given question.

X a4
& 91T e & 3oaw A F TOT Fem 1 T § A 3en 2 qaied w@
2l

1 alone is sufficient while 2 alone is not sufficient to answer the given question.

Question ID : 9864493930
Status : Not Answered

Chosen Option : --

Q.13 AyFwE & TN FIE = W, A4 & FieT W A R Tgd &1 & W

file://lhome/chrono

39TeT T AT §2

Which of the following is used to get relief when you have been stung by a honeybee?

K.L?T‘F-TITUTFI?FF

Question ID : 9864493309
Status : Answered

Chosen Option :3
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" 3 HsT

Baking soda
X 3 wafeF e

~ Acetic acid
, FirereT |Er
Washing soda

x

Q.14 =fx forelr Rawem & = o1 7 HEw T300 @ A Rwew & 2 amr oA Fw
g

If S of a pizza costs ¥ 300, then 3 of a pizza will cost:

Ans X 1.F 180
< 23250
< 3T 225
v 4T 270

Question ID : 9864492781
Status : Answered
Chosen Option : 1

15 37 EeT I, S T sjmeT & @ Fr
Q 58 T & Tlé- A | Question ID :9864494262

S|
Status : Answered
Chosen Option :4
ANnlAnlAN]lAND ASA
m a2l A 9 ~
AR|IARIAR|A 2
AN AN

Select the option that will correctly fit in the blank space in the given figure series.

AAIRAJRAIRA] 7 [
aval Fa
Ans A~
X1 A A
A A
A~
« o | AN
S
X 3
VA
x| AR
16
Q16 qurslr R Fdr & e 9 g %’9 Question ID : 9864492112
On which river's bank is Panaji located? Status : Answered
Chosen Option : 1
Ans m
W
Mandovi
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K2 2

Zuari

< 3.
Sal

X a4
Terekhol

QY7 e HEar #r 72%, 90 %’I & Sger %'7 Question ID : 9864492926

72% of a number is 90. What is the number? Status : Answered
Ans X' 1.120 Chosen Option : 3
v 2125
< 3130
<2124
Q.18 Tl amaw # e A ge fvfia #X fF A S s & @ i

- # Brfea ¥ Question ID : 9864494145
° Status : Answered

6 3¢ H1 ¥ ¥ RrEe F oA FE =R Chosen Option : 4

eI
1: 6 T F A TF FH F B FAGA 30T WE T T g I
2: wer 6 A T Y ¥ TES @ 7E TS

Consider the given statement true and decide which of the given assumptions is/are
implicit.

Statement:
It is desirable to start writing from 6 years of age.

Assumptions:
1: Fine motor skills are well developed by 6 years of age.
2: Children cannot write before 6 years of age.

Ans xl_
o @ A 1 AR 7 & A 2 fafea 2

Neither assumption 1nor 2 is implicit.
Faol HA 2 g g gl

| Only assumption 2 is implicit.

| Fg 1 Tg 2 gt g fafga §
| Both assumptions1 and 2 are implicit.

Faor A 1 8 g

Only assumption 1 is implicit.

2

x

v

Q.19 69 F A7 AEl H FH TR Alc & & AR A0 F & I AW 3796 FoH )
BT M9 FT UTAGT 483 & Question ID :9864492595

Split 69 into three parts such that they are in A.P. and the product of their smaller parts is 483. Status :Not Answered
Chosen Option : --
Ans X 1.19,23 27
& Download RRB Exams PDF E-BOOKS &ics
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< 3.15,23,31
W 4212325
Q.20 3coR HFIAT (Answer figures) H T T e & TH W A arel WEr
Ty Question ID :9864493730
Problem Fignre Status : Answered
Chosen Option : 2
e A
o B 2
A B C D
Answer Figures
N\ P —
® m ||
/ \ Y i
\ / \‘ \_;. \ * 4
1 2 3 4
Choose the correct figure from the answer figures to replace the question mark.
Problem Figure
e A
o B 2
A B D
Answer Figures
A A =
“‘Jr-_-‘\\.\ "‘( l\\\ l‘/ -\.\’ fn’ \\\
Il * ‘\ _f h! s
1 2 3 4
Ans ( 13

X 21
X3.2
X4 4

Q.21 Tl FHEgES &1 v S Fr wars 61 WA § 3T s sEwa 1320
Question ID : 9864492956

T 48T &1 =oF Tl f FE F O 9w
The length of one side of a rhombus is 61 em and its area is 1320 cm?. Find the sum of the Status :Not Answered
lengths of its diagonals. Chosen Option : -

e, 120 T
120 cm

v 122 T
122 cm

x 5 142 TS
142 cm

x . 11 T

71 cm

Q.22 2017 &, Wiwor % &7 & Fopee W & BT seee IET E Oueston 1o 9364462424
e TR (FE TR ¥ R A i w i e uestion ID :
RERR & HEATerT faar ar?

In 2017, which Indian scientist was honoured with the Living Legend Award by the
International Union of Nutritional Sciences (IUNS) for stellar contributions in the area of

nutrition?

_ Afolr aisarer
@ Download RRB Exams PDF E-BOOKS =i
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Chosen Option :2
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< A

X2
Tessy Thoms

HAgdd ST
3.
Mahtab Bamiji

X4.W

Suman Sahaia

v

Q.23 feam s/ = et X # qeut 3y Afgenstt #r dfee stea am axfar &1 _
Question ID :9864494050

Multiple Bar chart showing men's and women's Status : Answered
Average Daily Earmings
(in Rs) .
. [0 = Men (21 years and sbove Chosen Option : 4

% = Women (18 years and above)

—> Average daily
Eamings {Rs.)

8-

i sitmT -

59 (21 a9 v FEE #foe)
Afgeme (18 a9 3t Fowr afom)

R 2o & mur W, W av gt & 8w siea e F wfoee gf
oo av & g # faFaw o7

The given chart shows men’s and women’s average daily earning in Company X.

Multiple Bar chart showing men's and women's.
Average Daily Eamings

(in Rs)
0 [ = Men (21 years and sbove)
B = Women (18 years and above)

70

— Average daily g
Eamings (Rs.)

50

Year -

Average daily earnings —

Men (21 years and above) —
Women (18 years and above) —

Based on the depicted data, in which year was the percentage increase of the average daily
earning of men maximum over the preceding year?

Ans  of 12003
< 2. 2001
~ 32002
< 4. 2004

Q24 it ¥ AT s A Ay H T T a2 |
What i

Niinctinn 1IN -002AAQD2ANA
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Ans X1 16kHz ﬁ 200kHz Chosen Option : - J

< 2.16Hz & 16kHz
v 3 16Hz & 20kHz
X 4 14Hz & 20kHz

Q.25 forelr TeT F TXOT F 54 HF Wed A F For JH F 72% F W °qM
afieT faaer 3Rt ST o7

In a test, Charan secured 54 marks that was also equivalent to obtaining 72% marks. How Status : Answered
many marks was the test out of? Chosen Option :2

ans of 1 75
X285
X280
X 465

Q2 F T H ¥ 3EIT 9 Eql Eﬁ%l Question ID : 9864494353

Status : Not Answered

0.02, 0.020, 2/100, 0.002 Chosen Option :--
Select the odd term out of the following.

Question ID :9864492686

0.02, 0.020, 2/100, 0.002
Ans o 1.0.002
# 2.0.020
#3.0.02
#< 4.2/100

Q.27 ==t VWY9PONISFSLUDTGE1AJ 7 ST 3=t gv, fovesy sper a1 R

= Question ID :9864494381
9g AT |

Status : Not Answered

9WA, OOD, , FD9 Chosen Option : --
Using the expression VWY9PONISFSLUDTG61AT, find the missing term from the

following series.

9WA, 00D, .FDo9

ans X 1. NSI
X 2IF5
X 2 FI5
v 4 NFL
Q.28

Question ID : 9864493814
Status : Answered

Chosen Option :3
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e

9/14/2018 mm I 0 ad %—?

A o Fud ® Ho¥ A
mﬁq&ﬁmﬂrmmé‘l

LP TECHNI
% god fAead w7 &

e
Fo R 3w
o g o 3 )
s
1. T AAE T fierw
2. § R ST e T 3

Consider the given statement as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:

Some teachers are rich.
All diabetics are rich.
Conclusions:

1. Some diabetics are teachers.
2. Some rich people are diabetic.

Ans -1 FaT ToreHy 2 e =T §%ar 2

Only conclusion 2 can be drawn

X 2
T ar sy 1 3R F & 2 AT T T §

Neither 1 nor 2 can be drawn

v 3t 2 2 e =T T #
Both 1 and 2 can be drawn
mﬁﬁm‘r 1 fReprem 37 Tohar &

Dnly conclusion 1 can be drawn

Q.29 TE Fa # 5 AR FFTERAT 1 HeTEHT For 45 Reamedt §1 A 3/5 AT AEs E A )
Question ID :9864492562

ST 3 AT T HEAT AT T
In a class consisting of boys and girls, there are 45 students. If three fifth of the students SIS 5 U
are boys, find the number of boys in the class. Chosen Option :4

Ans X' 1 25§

X< 2.26
v 27
< 418

Question ID : 9864494295
Status : Answered

Chosen Option :4
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=T o w o= § T

mirE BT

CICIM

THT F THS JOH SR 21 P 3T T FEr § - T 98T F g
HFETOT foRaT ST AT T ange|

ECLIDH

2

1. 5% J& wEuE 7 R A, gl = ar = F Bw ogo
TR At R $r wifEer s E

2. wftft, Tmm v & R f WY & w9 & meaqet qat &
HTERTHAT TS B

Consider the given statement and decide which of the following assumption(s) is/are
implicit.

Statement:

You are expected to be honest before the advocate — an instruction to be followed in
front of a defence lawyer.

Assumptions:

1. Unless cautioned, the clients tend to hide certain vital facts to save themselves.
2. At times, the vital facts are required to strategies the defence argument.

Ans v ITAT 1 U9 2 gar &1 e §
s 1

Both assumptions 1 and 2 are implicit.
e A 2 & fafea 7
| Only assumption 2 is implicit.
o, T 3 2, gt & fafga = &)
| Neither assumption | nor 2 is implicit.

Faor A 1 & 2fga &

Only assumption 1 is implicit.

x

p

O3 gifyes F=AT e SR 87
Mechanical energy is equal to:
Ans v AT FaAT + THATAR FAT
1

* Kinetic energy + Chemical energy

| TIfast F=ir + Teufost w=ir

Kinetic energy + Potential energy

3.?Iﬁﬂﬁ%+mmﬁ'

Kinetic energy + Heat energy

4_?rﬁ-‘|3farrfr+ﬁ'|@aﬁfr

Kinetic energy + Electrical energy

-

x

X

Question ID :9864493202
Status : Answered
Chosen Option : 1

Q.32 Fig F FBR IR FeE = F Tw e # sw = Fewn @ 2

Question ID : 9864493611

Which gfthe fallaviring ic addad ta iran to mola iran hard and ctronad

file://lhome/chrono
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Q33922 + 345 -3 + 1116 x 372 & AT &
The value of 122 + 345 -3+ 1116 x 372 is:

Ans

v 1 466
X 2. 469
< 3 446
< 4 460

Question ID
Status
Chosen Option

19864493898
:Answered
11

Q.34 gog X AR Y ur # vaw-g@ H AN T @ & 79 F e § ¥ omw X

o 9Sdr

In the morning X and Y are walking towards each other in a park. When they meet, Y’s
shadow falls upon X. In which direction was X facing?

Ans

#1 X @ g B g & ar

Question ID
Status
Chosen Option

19864493891
:Answered
:3

Q.35 TF U 53w He H 5 e I gy S 3 dieer O 6 9 e A TR R AT

i 7 oY | Tg ST HET T Fa eamete

A watch loses 5 minutes every hour and was set right at 6 a.m. on a Monday. When will it

show the correct time again?

Ans

v

X 2

X 3

X a4

I (AR 91 6 =4

6 a.m. on next Sunday

3T WIHER 91d: 3 91
3 a.m. on next Monday

P AR 9T: 3 84

3 a.m. on next Sunday

37Tl WA 9T 6 51
6 a.m. on next Monday

Question ID
Status

19864492634

:Answered

Chosen Option :4

Q36

file://fhome/chronog
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Who was the UPA candidate for the Vice President’s post in the 2017 elections?

Ans HTUT Tmeft

Exam St udy Not es

Question ID : 9864492217
Status : Answered

Chosen Option : 3

F 0
Arun Gandhi

v: ATeTeRSOT Fedt
Gopalkrishna Gandhi
X 3. FEOT TR

Varun Gandhi
o, W e

Sonia Gandhi

Q.37 37 3cat =T (Answer figure) 7 =9 &Y &t faw v 927 =7 (Problem
figure) # Torg T F WEY TRE & S THT

Problem Figure

Question ID : 9864493983
Status : Answered

Chosen Option : 1

=@
@I
/0K
Answer Figures

QOE)

4 B C D

Select the Answer Figure that correctly fits in the blank space in the given Problem
Figure.

Problem Figure

@)
Qe
Q) -

Answer Figures

QIOEK)

A B C D

Ans of 1. D
X 2B
X3C
X4 A

Q38 fIv 7w wAE ¥ fawwA amgia ghaw

AENVEEV.

Question ID : 9864493766
Status : Answered

Chosen Option :3

A B C D

Select the picture which does NOT belong to the group.

IAENZEEN

file: ///home/chronoj
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2.

XsC
VA

Q.39 m kg FHATH dlel T whsl & T&d W 57e HT ol ol I¢ g 10 ms > ]
Question ID :9864493160

Status : Not Answered
B T 20 ms™? & TOT ¥ HOT gga g1 I A aed F wE g@ & W Chosen Option :--

& TOT § AT §EaT ¥ 1 my kg FEIAIT AR U Hedl TGl WA g @

arer far = #3979 AT o oA 1T, O ca T ohaeT aem?

A wooden block of mass m; kg accelerates at 10 ms— when a force of 5 N acts on it.
Another block of mass mg kg accelerates at 20 ms~ when the same force acts on it. If
both the blocks are tied together and the same force acts on their combination, the

acceleration will be about:

Ans  of 1. 6,67 ms™2

X 2 1.67 ms™2
/< 3. 567 ms2
X 4 467 ms2
s m?{ ﬁ :’a— aﬂ;r AT &Yed ITeld %? Question ID : 9864493534
Which of the following statements is INCORRECT? Status : Answered
Ans x 1. Chosen Option : 3

YTANY] AR T & oA & R gt 1T gl

Atomic size increases from top to bottom.

X2
TF & WHE & Tl Iedl HT HIUSAHAT U FAT g gl

All the elements of a group have same valency.
¥ &3
T dcd & Tl gHAwES # vs & wEg # 1@ A g

Isotopes of the same elements are placed in the same group.

F 8
A B 3\ A W A F g 3R gt e #

Atomic radivus generally decreases from left to right.

A1 :
4l gol Cr Question ID :9864492859

Status : Answered

Chosen Option :2

1 _
72 + S{15 + 12- (9 + 6-5+ 7} =2

Solve the following:

1 _
72 + 5{15 + 12— (9 + 6-5+7)} =2
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o g=amei § ¥ ST O g'r 3uiEy 2—9 Question ID : 9864492864
. Status : Answered
Which of the following numbers is irrational? Chosen Option :2

Ans X1 3/64
X 2. \64
}(3.‘{[5_4
(4.{[6_4

Q.43 TF AT (eI HT PIRNFIHT H IUTHT FT Hid | FA= Bl 57

A girl child has which of the following combinations of chromosomes in her cells?

Question ID :9864493418

Status : Answered

Ans 44 o1 +XX Chosen Option : 3

44 autozomes+3X
22 JUREA +XX

22autosomes +3X
44 JUTEA +XY

44 autosomes +3Y
22 JOREA +XY

22autozomes +XY

Q44 oraer HiET H FFeeaisur & gl Fr gidera AEw A E
The percentage of water of crystallisation in washing soda is

Question ID :9864493452

Status : Answered
Ans X' 1.1.80 Chosen Option : 4

X 2.37.06
< 3.10.6
v 4629

Q4s Braw ma W R N ik i d e wscw e s Rv R d ¥
Question ID : 9864494372

Sl @1 Fe T2T B
Status : Answered
. X Chosen Option :3
s Tt A e e Fr 17 P
FUA:
1. T 3T ST S 30% aEeEy T
2. AT AR F

Read the following question and decide which of the given statements is/are sufficient.

What is the total number of illegal immigrants?

Statements:
1. 30% of the total illegal immigrants are from Bangladesh.
2. Remaining are from India.

Ans x 1.

137 & gOteg ¥, FEfE 2 ¥ 99T W 3o} & ¥ fov guea 7@ £

1 alone is sufficient while 2 alone is not sufficient to answer the question.

X 2.
99 F el & & Tow 2 3T 1 2 gueT B

Both 1 and 2 together are sufficient to answer the question.
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I

Joy Goswami

Z_Hﬂmﬂ'ﬂiﬂﬂ'

Taslima Nasreen
e TSI
3.
Subhro Bandhopadhyay
g9 geER
S 4
Baby Halder

x

x

Question ID : 9864492421
Status : Answered
Chosen Option :3

Q.47 & T1$ TRU &F HUR WS¢ fF 2001-2006 Fr 3afer F R aaa & uiy
a¥ fraet wfeera (fPreeas quis #) #r gfx g3

v
T o | wrea | Rifea |t

Y\

2001 % 1,500|% 200| ¥ 500 | ¥ 100
2002 | ¥ 2,600(% 300| ¥ 600 (% 200
2003 |¥ 3,200(% 150 | ¥ 700 (¥ 150
2004 | % 4,100|% 250| ¥ 650 |% 125
2005|% 5,000(% 200| ¥ 800 ¥ 150
2006 | 5,200|% 100| ¥ 750 |¥ 175

Based on the given table, the percentage salary increase per year during the period 2001-
2006 was (round off to the nearest integer).

Items of Expenditure

Salary | Food | Medicine | Tax

2001 | ¥1.500 | 200 | 500 % 100
2002 [ Z2.600 [T300 [ T 600 % 200
2003 | 3200 | T150 | ¥ 700 %150
2004 | 4,100 [ T250 | T 650 125
2005 | T5.000 | T200 | T 800 3150
2006 | 5200 | T100 | T 750 3175

ans X 1248
v 247
X 3246
X 2245

Year

Question ID : 9864493701
Status : Answered
Chosen Option : 1

Q48 NaCl Teh 1G0T &, ST &o1aT 2-
NacCl is a salt which is made up of:

Ans xl_r-’l'lamaﬂtﬁamﬁ

Ctemeine aniddAd and vraals haoa

Question ID :9864493230
Status : Answered
Chosen Option : 2

99T & el eof & AT T ar 1 3 7 & 2 T
Neither 1 nor 2 is sufficient to answer the question.
X a4

23 &1 qotea ¥ et 1 33 99 1 3o} 2 & faT gdieg w@t B
2 alone is sufficient while 1 alone is not sufficient to answer the question.

Q.46 FF T FWH FiA ¢ To@A IT 2017 F 317 FiAGH TEHER Sfar?
‘Who is the Bengali writer who won the 31st Moortidevi Award for the year 2017?

Are | SiE e
=T F AT
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X2 e AT HR FAC 8T &
Weak acid and weak base
| AT aFET AR A eR W
Strong acid and strong base
s He 3T 3R g e |
Weak acid and strong base

v

Exam St udy Not es

Q49

Tw WA &7 5 wEW ol weani & dea 15 § T wg & i 13
aEst = dtma 17 &) mew 99 8 At v sitwa = g

The mean of the 5 smallest numbers from a group is 15 while the mean of all the 13
members of the group taken together is 17. What is the mean of the 8 largest numbers?

Question ID :9864492878
Status : Answered

Chosen Option : 1

Ans X 1.18.50
< 2.17.75
< 3.18.75
v 418.25
Q.50 A 3T B fReT wh F & 10 RE F o1 @ &1 T A 3T FRY Fr 3wReT

15 =t & T @erar &, o B 3when 36 R # aw &t # #w gewar &2
FHRIFT T F FHF F F 0 Wor A& Be e §) 57 FAgER aaityd
oyl

A) Bk T w A 1oL g

0 15

BANBF mREF = . MMAF = R ad ¥

C) B & & kel 30 T & T Taar 21

D) B # TF R &1 F % ¥

A and B together can do a piece of work in 10 days. If A can do the work in 15 days, find
in how many days that B alone can do the same work. Given below are the steps involved

in solving the above problem. Arrange them in sequential order.

A) One day’s work of B is 11
10 15

B) One day’s work of A and B is % and one day’s work of A is IL*
C) B alone can do the work in 30 days
D) One day’s work of B is %

Question ID :9864492549
Status : Answered

Chosen Option : 1

Ans o 1 BADC
# 2. ABDC
< 3. BCAD
X< 2. BDAC
Q.51 HTERTr &Y AT A T 9,600 § | SHeRT AT Tl SHHT HTT HT 60% §| ST ATTLH

T e &7

Akash’s monthly income is ¥ 9600. His monthly expenditure is 60% of his income. What
is his saving per month?

Question ID : 9864492507
Status : Answered

Chosen Option : 1

Ans  of 1. T 3,840
< 2.¥3,870
< 3.7 3,040
X 4.F 3,850
Q.52

file://lhome/chrono
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9/14/2018 Qp~iL) Rtk
F-ﬁ?]i?.'tf?rtf Iog:ﬁrﬁr APTECHNI@LAEI_E&a.m_SLudLBbLES_,

qarad HeWT &1 99

VMR : ZIS 1 AKT :
Select the related letters from the given alternatives:

VMR :ZIS: AKT:
ans X1 HIR

X2 EQU

X = FHS

v+ EGU

Q.53 I & 715 YeiF HIFTT F el U N TAET Flh AT §HE &9%T | 59
TE § & 9 I T &

Question ID :9864493807

>< \/ Status : Answered
1 2 3 Chosen Option :4
4 5 [
7 Q M
Use each of the below figures only once and form three groups. The three groups thus
formed are:
XV
4 5 [
7 Q M

Ans - 1 (1,4,3), (2,5,6), (9,7,8)
~ 2.(1,2,3), (4,5,8), (9,7,8)
v :(1,2,6), (4,5,3), (9,7,8)
X 4(1,2,3), (4,7,6), (9,5,8)

54 st & T S —
Q54 fo are Ry & Fegett &1 1 g2 aren ReweT e Question ID : 9864493943

Status : Answered

Chosen Option : 3

/N

Select the option that represents the number of triangles in the given figure.

/N

ans X 114
V215
X213
X417

o= | @ Download RRB Exams PDF E-BOOKS 1
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‘Which former Indian cricket player has taken charge as the Indian cricket team’s head
coach in 20177

1 forerer ToiE a8
Bishen Singh Bedi
xz'g;h?»rmﬁm

Sunil Gavaskar
vz e arE
Ravi Shastri
X o =Ade HigeT
Chetan Chauhan

Qp~i1) Atral
%Bﬁ%@g;%g;l%ﬂ AN Exam St udy Not es

Question ID : 9864492380
Status : Answered

Chosen Option :2

Q56 dfr, efimer & I & FafiT § S T, T TEfT

Ans

‘Battery” is related to ‘Terminals’ in the same way as ‘Magnet’ is related to

XL
Repel

V23T
S'H%nﬁmﬁ%

Pointing north

x4_3-'|1$l§'UT

Aftract

x

Question ID :9864493942
Status : Answered
Chosen Option : 1

Q57

Ans

foee & @ fawm = 3 &
Pick the odd one out from the following:
v L
Glass

TOHITATH
Koo 2
Aluminum
ey
Silver
GICI
Copper

X 3

p

Question ID :9864493425
Status : Answered

Chosen Option : 1

Q58 Faeh (o IR % OTH I aeoT 3T ¥

Ans

fiIe:///home/chronoJ

tissue changes the diameter of a blood vessel.

god
Heart

KoL

Question ID : 9864493075
Status : Answered

Chosen Option :1
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vz Araoelr

Muscle
I9hell

3.
X Epithelial
F g

Bone

Q.59 gru=t A 3B v Em wr A 25 Bae s s A smEea f sl amsw o dw ,
e fer Fivere Qe a0 W §1 T il aret Y v arey et R e 8, & O IIRE E  bas
& 15 fBee & g S 8| & & anfyar A i Status : Answered

Two pipes namely A.B can fill a sump in 25 minutes and half an hour respectively and a Chosen Option :2
pipe C can empty 3 gallons per minute. All the three pipes working together can fill the
tank in 15 minutes. The capacity of the tank is:

Ans 450 e
v
450 gallons

x 2 300 FYeTeT
300 gallons

x 240 e
240 gallons

X o 600 FYeTeT
600 gallons

Q.60 T & ¥ frg TR 1 7 TUH seoe W off aRafdd 7@ 2 37

ion ID : 44
Which of the following guantities remains constant and does NOT change from place to QUEEE eSS ==

place? Status : Answered

Ans « oAl Chosen Option :1
1.

Mass
HYUT & HROT Jcf

Foree due to friction
dafe]

s Weight

ITSCATRYOT
K4

Gravity

X2

Q.61 Fi &7 3 3Mw AeafafEe aeot & a8 vafaftee = & .
Question ID : 9864493710

Status : Answered
Thellee, HNd, oferar

Which of the following Venn diagrams correctly represents the following classes: Chosen Option :3

Karnataka, India, Asia

Ans

F
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Q.62 3R F 3W IUGHT FASH F TIT . 5 79 FAF 7T ¥ & 7 30w
ST & U H @ A § & geer it g sreE

Question ID : 9864494366
Status : Answered

_VWW_LUV_WVUU_W Chosen Option : 2

Select the appropriate combination of letters that when sequentially placed in the gaps of
the given letter series will complete the series.

W BBy wvun w
uvwu
uvwu
UvwWv
uvwv
uwwvul
uwvu
VWuv
vwuv

Q63 nﬂwﬂ H 9T A 91T 998 [WIHT B Question ID : 9864493516

Status : Answered

In human beings, the respiratory pigment is:
: Chlorophyll
Helferet
Melanin
U&= (Rhodopsin)
Rhodopsin

gIATE e

v 3
Haemoglobin

b 8 X {5 N (_ 2) X (_ 3)} = 7 Question ID : 9864493000
8 x {5 — (— 2) x (_ 3)} =9 Status : Answered

Chosen Option : 2
Ans x 1.8

<2 —168

& Download RRB Exams PDF E-BOOKS &

Chosen Option : 2

< 2

~ 3.

file: ///home/chronoj 22/25


https://career.aglasem.com/
https://rrbexamportal.com/study-kit/rrb-technician
https://rrbexamportal.com/ebook

e Downl oad RRB ALP TECHNICIPAN Exam St udy Not es

v

Q85 56 140 31X 168 1 A.@. fovgar &2
The HCF of 56, 140 and 168 is:

Ans (1_
X 2
< 3
X a4

28
7
14
4

Question ID
Status

Chosen Option

19864492902
:Answered
4

Q.66 2 Fur ¥ 7 q, H g, § T AFT P R sFF fTTF TAF
T BT §1 AT gt F 1/5 Fr et Fr meh &, J @t o e et foaem g

Two particles with charges q, and q. are kept at a certain distance to exert force F on each
other. If the distance is reduced to one-fifth, then the force between them is:

Ans x 1.
X2
X 3
v

F/25
SF
F/5
25F

Question ID
Status

Chosen Option

19864493146
:Answered
12

Q.67 &l a3t A Fyfe AT WO F FT T FHg A W1 WA 72
Alkali metals are assigned which group in the Modern Periodic Table?

oIl g
Second group

2. Fae
Eighteenth group

Ans

p 0

~x

Question ID
Status
Chosen Option

19864493413
:Answered
:3

Q.68 TF FSHT 120 =Yg AT & UH aFd H 2 HeT T Fg 7 38T g1 FHF

A TR e R 1
A boy raises a box with a weight of 120 N through a height of 2 m. The work done by

60 el
L

60 J
120 3ot

120 J
240 T

240 J
180 S[&T

180 J

Question ID
Status

Chosen Option

him is:
Ans
p N
X2
" 3
K4
|Q.69

file://fhome/chronog

19864493463
:Answered
11
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3ept a1 3ftad 70 31 37 13 Taganfala & siel &1 3itad so g, A IS HA H
ZafEud gl T 7 O & 37 ATd HIfaT]

In a class when a test is conducted, mean of 25 students marks is 60.1f mean of first 13
students marks 1z 70 and mean of last 13 students marks iz 50 find the marks of the
middle student when arranged in the ascending order.

Ans X' 1. 70
< 240
< 3.50
W 4 60

Q.70 Wi W AT AGNT =it 2016 & glehT 32T oirer & o et 72

‘Which Indian Maharatna Company has been the title sponsor of Hockey India League
since 20167

e iR st S ()

Gas Authority of India (GAIL)

X 2.
TSET 23T 9T IaRer (. &0y )
National Thermal Power Corporation (NTPC)

| ¥ 3 fafis @ amg)

" Coal India Limited (CIL)

X a4
e 3 wipfas IE WA (3eeShEn)
Oil and Natural Gas Corporation (ONGC)

Q71 k T AT AT hIAAT, TorTeh fore gleama TareRoT
4x% + 4/3x + k = 0 & FAT TAT &
The value of k, for which the quadratic equation
4x? + 4+/3x + k = 0 has equal roots is:
Ans 2{ 1. =2
v23
K32
<4 -3

Q.72 15 | Tger FHTEN, st ¥ 3 77T 421 off| 3T IOA A F T 94 AF
T Rt s Rraelr 531 B2

15 years ago Cynthia was thrice as old as Brittany. The sum of their present ages is 94
years. How old is Brittany now?

Ans
x4 33 I9
33 years

X2 32 I

32 years

file://lhome/chrono

Question ID : 9864492457
Status : Not Answered
Chosen Option : --
Question ID : 9864492359
Status : Answered
Chosen Option :4
Question ID :9864492555
Status : Not Answered
Chosen Option : --
Question ID : 9864492852
Status : Answered
Chosen Option :4
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30 aw
X 3
30 years

31 9
v 23
31 years

Q.73 fordlr 3uaer Ty 1T B F1 26160 H T, T &I F& a9 Tgol 365
TR s A S AR [ 44% FA T T gE F| AT F 5% @y A F
for =0 B Froag W d=ET ofge ar?

By selling a used phone for ¥ 6,160 Rajan got 44% less than what it cost him to buy it a
few years ago. At what price should Rajan have been able to sell it to make a profit of
5%7?

Ans - X'1.312,550
« 2.%11,550
# 2.¥12,000
# 4.¥10,550

Question ID :9864492908
Status : Not Answered

Chosen Option :--

Q.74 Fex & @ # wranr S Fren AU A F ¥ FlT @r 7@ 87
Which of the following characters is recessive in a pea plant?

Ans
v %I‘ﬂ?:.’l?a ClEy
Wrinkled seed
<2 ol
Green pod
; Ier Foll
Round pod

Round seed

Question ID : 9864493577
Status : Answered

Chosen Option :4

Q.75 wall 2018 % 39eRY AFFNI & IJOR dRd F fher T Teliaas Feae
& emer wT #7

Who is the Chairman of the Film and Television Institute of India as of February 20187

Ans

Mithun Chakraborty
ST d=xled

4,
Jaya Bachchan

Question ID : 9864492205
Status : Answered
Chosen Option :2
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